Sanity-Check for TDIV_HUM _ts.nc
Var: TDIV_HUM

TDIV_HUM min TDIV HUM max
400 s 400 o A
b P40 & / = 14
e+00 = \ .,
350 . 350 q_j 34e+00 7 A
e -10 -50: 7.91e+00 B TRy
300 g 300 g f-.._ e+01__.§7"_' » g5 - 12
[ 15 ) _
250 250 |10
200 - —20 200
} - 8
150 L o5 150
100 {5 100 . - °
s -30 :
50 §. 50 4
—-35
0 100 200 300 400 0 100 200 300 400
TDIV_HUM mean TDIV_HUM mean - distribution
Min: -1.63e+01"
400 {max: 1.42e+0;
mean: -4.39¢ f." : 0.75
{std: 5.87e-01 3 1
350 15 2.1 33400 ° QY = | 0.50
q_50: -6.20e-02 _
300 q_98: 8.89e-01 - _' | [ loas o 10°7
250 SEL 4 : | | foo0o @
S - | 5
-—0.25 O
(@]
-—0.50 G
#
-0.75
102 b
-1.00 1
—-1.25




